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Second Year B. B. A. (Sem. 1V) (CBCS) Examination
September / October - 2013
Management Accounting - |l

Time : 3 Hours] [Total Marks

Instructions :
@)

f Hli 5211M1
Fillup strictly the details of signs on your answer book.

Name of the Examination :
SECOND YEAR B. B. A. (SEM. 4) (CBCS)

Name of the Subject:

MANAGEMENT ACCOUNTING - 2
_SubjectCodeNo.: 3 5 3 8 -SectionNo.(1,2,...): NIL

(2) Figures to the right indicate marks
(3 Use of simple calculator is permitt

With a view to increase the es PHONEX Itd.,
has a proposal to reduce its by 20%. No change
in the total fixed cost or in variable er unit is estimated,
The director of the company er desires the present level
of profit to be maintained. T ing information has been
provided :

Sales (1,50,000 units) ...... Rs. 15,00,000

Variable COSt.......cccevveevieenen. Rs. 5 p.u.

Fixed COSt.....covviieiieeeiee, Rs. 1,50,000

Find out the number of units required to be sold at a reduced
selling price to maintain the present profit level. Also work
out the present and proposed Break-even point.
OR
The projected capacity of a plant, when sold, would return 10
Rs. 70,000 in sales income to the company. The variable costs
for this production volume were determined to be Rs. 30,000.
The fixed costs are Rs. 20,000. Determine
B
fit orloss to the business on sales ofRs. 49,000 andRs. 28,000
ount of sales that will enable the business to earn
a next profit of Rs. 28,000
Margin of safety on sales of Rs. 70,000
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2  The following details are obtained from the cost records 12
of a company at 50% capacity. Prepare a flexible budget at 60%,
75%, 90% and 100%

Particulars Amount (Rs.)
Fixed Expenses :
Salaries and WagesS......cccvvieniieeieeneenee e 8,40,000
ReNt aNd taXES. . 5,60,000
Depreciation ........ccceeces eviee e 7,00,000
AdmInIstration eXPS......cccevveeeveeeicvieeesieeseee e 8,90,000
Semi-Variable Expenses :
Repairs and Maintenance.........cccocevevvveevveenen. 2,50,000
INIrect Wages.......ccocevevveevveeiie e esee e / ...U9,90,000
Sales COMMISSION.......cccvves v 2.90.000
MiSE. EXPENSES..cccveeeeeeerireeieeereeeereeereee e 2,60,000
Variable Expenses : /'S N
Raw MaterialS....ococcveeevivieiciiiieeeee e (..""~24,00,000
W agES. i 25,60,000
(O 0 11T T 3,80,000

It is assumed that fixed expenses will remain constant at all
levels. Semi-variable expenses will remain constant between
45% and 65% activity; between 65% and 80% level of activity
it will increase by 10% and between 80% to 100%, it will
increase by 20%. \

Sales at 60% are Rs. 1.00,00,000 at 75% - Rs. 1,20,00,000,
90% - 1,50,00,000 and at 100% are Rs. 1,70,00,000.

OR

The following information is from RAINBOW limited.
Prepare a cash Budget for 4 months from 1st April 2013. On
this date cash balance its estimated as Rs. 1,65,000 :

Particular
1,23,700
Selling 5,400
Purchai 52,500
14,400
9,000
3,780
3,900
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Time lag

Wages - A" month

Factory exps. —1 month

Office exps. - month

Selling exps. - 1 month
Research exps. - 1 month
Creditors - 3 months
Debtors - 2 months

Sales commission @ 4% payable after 2 months
Plant costing Rs. 1,50,000 to be purchased
Building costing Rs. 12,00,000 to be purchas
Amount is payable is four installments
which the 1st is payable in May.
Dividend of Rs. 15,000 to be paii
income-tax Rs. 45,000 in June.
Cash sales are Rs. 3,000 per mon
Call money 50,000 equity share .00 per share
is receivable in May.

Answer the following as din 10
(@ Whatis Budget ? List of budget prepared
by an organisation.
(b) A company sells 8,00 Rs. 12.00 per unit by
incurring a variable ¢ 5, 38,400 and fixed costs
of Rs. 52,000. The com wants to earn a profit of
Rs. 15,000. Find out lired sales.
(©)  Define stan and Material cost variance.
(d) List down 2 e each of fixed, variable and semi-
variable expens
The stan cost on 'Material' and Labour for making of 19
a unit -ertain product are estimated as under :
tern :g at Rs. 1.50 per kg

Labour 18 hours at Rs. 1.25 per hr.

On completion of the production of a unit, it was found that
g o material costing Rs. 1.75 per kg has been consumed
tke time taken was 16 hours wage rate being Rs. 1.50

are required to analyse material and Labour
Ces.
OR
at is variance ? Discuss Material, Labour and 12
Overhead variance in detail
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5  Gupta toys sell 3 different toys Z, X and M. Product Z 12
contributes 20% of its revenue to fixed cost 4 profit. Product
X contributes 10% and product M contributes 50%. The
products sell for the following prices :

Product Z - Rs. 80 p.u.

Product X - Rs. 20 p.u.

Product M - Rs. 30 p.u.

The company earned a net profit of Rs. 5,00,000 before
interest and taxes last year by selling 50,000 units of
Z, 1,50,000 units of X and 60,000 units of M.

Prasad, the sales manager believes that the profit
picture could be improved by eliminating Product X an
concentrating sales efforts on Product Z and
opportunity to increase the sales of product Zt
and that of M to 70,000 units next year. Do

Prasad ?
OR
5 On the basis of a production schedule of units. 12

The cost p.u. are given below :

Particulars ount (Rs.)

Direct Material Cost
Part purchased from ou 200.00
Other material........... ...\ M, 40.00
Direct Wages......cccevvervvvnenne L o\, 60.00
Other variable overheads”™....V.....cccooevveiennnnnn, 40.00
Fixed overheads 4,00,00M)00 ......ccooovviviiennnnnn, 400.00
Total.....ccoeeee %

The company is operating at 80% and it will not be
making any other use of the balance 20% capacity. Hence
contemplates to manufactures the part of the above product,
which it purchased from outside. The estimates cost of the
part is as under :

Direct material ........ccccceviviiiviiii e Rs. 40
lages............ Rs. 70
headsS....ccocvveiiieee e Rs. 30

(20% Of 4 Crores)..ccccucvrceenveneesnnnns .Rs. 80

Rs. 220

company make or buy ?

rt notes : (any two) 14
‘erential cost
verhead variances
Zero - based Budgeting
Difference between fixed and Flexible budget.
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